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Me | Gan | show that | have been successful today by 7|

Drawing on my knowledge of factors and multiples

Using a Formal written method for long division (bus stop)

Carr‘gmg over a dLth when appropriate

Key Vocabulary

inverse mu[tLpLe Factor remainder carry

Complete the Following questions on your spare piece of paper:
TLp: Jot down your mu[tLpLesl

a) 3049 + 6 -
b) 6437 +5 -
d 3662 + 8 -
d) 690! + 9 -

Complete the following questions on your spare piece of paper:

Find the value of <.
Calculate the value of c.
9,180
|
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Thinking Tom says, “For a number to leave a remainder of 3 when divided by 5, its ones
dLth has to be 3.7

Do you agree or dLsagme? Exp[am your answer-.

Eva is thinking of a number.

p— o —
/[ multiply it by 6, \ A
then multiply the answer \
I\hg 8, then subtract 500. 2 (%L'?_rjr;\
The result is 9,100 —

Eva is thinking of the number-. ..







